Calcola in riga velocemente le seguenti moltiplicazioni
	12 X 1.000 = …………….

8 X 100 = ……………………

789 X 10 = …………………

156 X 1.000 = ………………..

6,901 X 100 = ……………..

90 X 100 = ………………….

500 X 100 = …………………

1,2 X 10 = …………………..

8 X 10.000 = ………………..

7,12 X 100  ……………………
	3,4 X 10 = …………………..

18,15 X 10 = ……………….

73,1 X 10 = …………………..

1,456 X 1.000 = …………………

4,5 X 100 = ………………….

0,4 X 10 = …………………….

0,09 X 10 =  ……………………

1,3 X 1.000 0 ………………….

0,8 X 100 = ……………………..

0,05 X 10 = ……………………….
	0,8 X 3 = ………………..

1,1 X 08 = …………………….

0,09 X 7 = …………………….

0,5 X 0,2 = …………………….

7 X 0,007 =  …………………….

0,8 X 0,9 = …………………..

0,03 X 12 = …………………….

0,06 X 12 = ……………………..

1,1 X 9 = ………………………….

2,5 X 0,3 = …………………………
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